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9. HCN has an initial molarity of 0.50 M, with a K, value of 3.7 x 10°®. Calculate its pH at

equiiibrium.(Hint:ThisisanlCEproblim.) ) K’&g gHgO*ﬁ CemN-T 0
() HEN + H,0 = H,0* + aoﬁ Then
AZ: o;§§m W5 ¥X o zaxwot Lx30xT
E 0.80 TRV To lad RS+ i fo.5071
() | [HTD = ). 36 % 10" %matfl. ()
pH = 2. &7 £y

10. Ethylamine (C;HsNHs) is a weak Bonsted-Lowry base. If it has an initial molarity of 0.024
M and a K, of 5.6 x 107, calculate its pH at equilibrium. (Hint: This is an ICE Problem.)

C,HaNH, + H,0 = ¢, ng Py ooH- )

\ 0.02% M o o '
AL - % + X vE B ()
e 5 024 W 3.7 0 By, o B LTHIOTF
poH = - log (z.67% WO Fm}
K, - LGHs f\i%’”i@ﬁ J (1) F Z.44
#
, EC&}QS N ,%v.} {“\} ) ’{-}ﬂ‘% z "% < Z.44% . }
sox 0= Ex300I o g o omB s pon-) - (1)

{:zﬁ 24 Ayt
. U\} 11. A chemist adds 0.75 moles of NHs to enough water to make 0.50 Irters of SO|UtIOI’1 Ky of

ammonia is 1.8 x 10”. Determine the pH of this solution at equilibrium. (Hint: Thisis an

ICE problem.) : _ o -
N, A+ Ha0 e NHyt o+ o (1)
, F LS wetfh O O -
| (i) AC X ' i % xfgéﬁ“% '
i g L5 mo?fL_ 5. 2x10 s ?Qﬁ:yigﬁ(g\ﬁﬁia"%?

¥y = TNAgTITOHT () | | P 2.28

ENHs . . pH: 14-2.28
LBx107F = [xJTx] = 5.Zxi0 T metfL s TON ] e ()
() L5 st L Oy e
12. Hydrazine, N3H,, has been used as a rocket fuel. Like ammonia, it is a Bronsted base. A .
0.15 M solution has a pH of 10.70. What is the Ky for hydrazine? s U= 0.0
l\lz‘r.t H iiﬁ e N,aﬁ_r%ﬁ%’” “‘5 o () ?@H= 2.20 .
Ve *”"%‘
| 0. 15 metfL 0 ° roHd= 5.0 10
&ﬁ» ,,, 5.0« 0% 5.0x1077 WEE - |
g 0.35 maiig ‘
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